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1. BEEROE

(1) FEILEE
HEREERE 1,610 1,610 0
BMRER 7,510 7,510 0
R AE 39,250 39,250 0
R FE IS (MFEREE. ABL) 19,000 19,000 0
HERTEREINE 500 500 0
e e 18,600 18,600 0
EREERIEA 700 700 0
Z D E IR 450 450 0
S IR W% 134,650 134,650 0
vk 50 50 0
ENREN 183,070 183,070 0
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R 112,590 112,590 0
MERISERE 1,320 1,320 0
HEERE 21,000 21,000 0
TERE REERE 60,000 60,000 0
HERTEER 700 700 0
AETR - BEREREXE 26,000 26,000 0
EEFEXE 3,570 3,570 0
WHR 69,754 69,754 0
A 46,700 46,700 0
EHE 23,054 23,054 0
ZEERAN 182,344 182,344 0
FMERS SRR LR R 726 726 0
ik Er s 0 0 0
HBEEERE 726 726 0
2, BEMEABOR 0 0 0
(1) %NS 0 0 0
()R &R 0 0 0
LIRS MR 0 0 0
& HRER 726 726 0
443 — HQ IEBRBA FE 10 kSR 0 0 0
—IRERRB EHE RS 134,614 134,614 0
— A IERB E RIS 135,340 135,340 0
I 1REEGMENBROR 0 0 0
2 20 8 R IE BRI EE I R B 0 0 0
IBEERMENEES 0 0 0
JEEEKMESRES 0 0 0
M IEBRRAEEXI KA W 135,340 135,340 0
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